
Expand :  log10 4𝑧 

1

2
log𝑏 𝑥 + 4 log𝑏 𝑦 − 4 log𝑏 𝑧 



Expand :  log10
𝑦

2
 

log10 4 + log10 𝑧 



Condense :  2 lnx + ln(x + 1) 

𝑙𝑜𝑔 𝑦 − 𝑙𝑜𝑔 2 



Condense :  log5 8 − log5 4 

ln(𝑥3 + 𝑥2) 



Expand :  ln 𝑡
3

 

log5 2 



Expand :  ln
𝑥2

𝑦3  

1

3
ln 𝑡  



Condense: 3ln 𝑥 + 2 ln 𝑦 − 4 ln 𝑧 

2 ln 𝑥 − 3 ln 𝑦 



Expand : ln
𝑥

𝑥2+5
 

ln
𝑥3𝑦2

𝑧4
 



Expand : ln
𝑥𝑦

𝑧
 

ln 𝑥 −
1

2
ln(𝑥2 + 5) 



Condense :  2log2(𝑥 + 3) 

ln 𝑥 + ln 𝑦 − ln 𝑧 



Condense :  
1

2
[ln 𝑥 + 1 + ln(𝑥 − 1)] + 3 ln 𝑥 

log2 𝑥2 + 6𝑥 + 9  



Expand : log𝑏
𝑥𝑦4

𝑧4  

ln 𝑥3 𝑥2 − 1 


